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2. o5 2dlA BC 9 Zele?

@ 13cm @14cm @ 15cm
@ 16cm ® 17cm

~&B ,

(AETF

AB: AE=AC:AD, /A =35 olEg
AABC & AAED(SASH )
2:1=BC:7

BC = 14(cm)




ot 1@el4 BC//DE ©li, AD = 8cm, BD = 6em & ), y & x
o T3t Ao 2 LR H?

BC//DE °|¥ BG //DF ¢|2&

AF: AG=AD: AB=8:(846)=4:7 ---O
¥, BC//DE o|¥ GC//FE 0|22

AF: AG=EF: CG=x:y ---©O

@, 00N x: y=4:7

4y =Tx O|ER y = gx ojct.
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O ™A L/ m [/ nD o, x 0] g7

~_ /.

~
~ 7

®x
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m

N
7 3N,
/ N

® 15 @ 14.5 ® 12 ® 105

4:2=(x-3):3
2:1=(x-3):3
x—3=26




5. ©= IdlA oABCD 9 F tiZ4le] ko] 24 o o, oEFGH ¢
=d9] ZolE FoH?

ﬁ:@:%@m:ﬁzém

- (0EFGH®] E¢|) = AC +BD = 24
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@117° @ 118° ® 119° @ 120° ® 121°

~&B

ODABCD cooEFGHO| B2 /E = /A = 60°
" /x =360° - (60° + 73° 4 110°)

= 360°—243°

=117°




9w o] AABC ©] B3 A,B o4 ¥ BC , AC of 24

e
542 29tk BD 9 Fols 5k
A
\
10
|
!
\
i
i
B S7C

@32cm @ 33cm @ 34cm @ 35cm ® 36cm

S8 \
AADC 2 ABEC (AA B2)

AC :BC=DC :EC

18 :(BD+4)=4 : 8

4BD + 16 = 144

4BD = 128,BD = 32




9.

o2 23 o] JAZE ABC 9 HAIH A 7FH BC 919 H E 9
QT = Hlth BD = 8m , BE = 5cm , EC = 10cm ¥ o], AF 2]
71o]l—_f)
= .

/
8cm
1

|
B = —(C
5cm’E~~10cm -

35
@ 8cm @ Zcm ® 7cm
25
@ Zcm ® 6cm

B ~

(A =/B=/C = /DEF =60°

/BDE = /CEF
ABDE & ACEF (AA ®-2)

BD:CE=8:10=4:5

AABC 7} BA4Fz+gol2 &2 AB = BC = CA ©o]1, gt ¥He] Ao
= 15cm ©|t}.

webd, AD =DE =7cm ,4:5=7: EF

.~ﬁ:ﬁ:§cm




10. o2 23 o] AD 7} A 9] 9]ZFe] o] 524 0]1 AACD 2] Y ol7}
36cm? ¥ W], AABC 9] {ol&=?

D) 18cm? @ 24cm? @ 28cm?

@ 32cm? ® 36cm?

B \
AD7} /A 9] o] 5 EAM0|EZ 6:4=DB:10.. BD = 15(cm)
o2tA BC = 5cm, BC: CD =1: 2
AABC 9} AACD & =o]7} Zt31 W o] H|7} 1 :2 o] 2 & Yo]
H|L 1:2 7} Ho

36

- AABC = %AACD === 18(cm?)




11. thg I AD /EF /BC A W, vy p.-6-.a

of g7

7

O x= 3= 11.5
7

® x= 3= 13.5
8

@X: g,yz 13.5

¥ ,,—9—-\4‘]3
bi \6\
/ \_n
<Z —- b
(/ ‘\_y____f
7
=, y=125
gy
—,y=12.5
3 y

B

oo db = =

3

27
=135
Y

4:6=x:4,6x=16

4:10=(9-6):(y—6)
dy — 24 = 30,4y = 54




12.

A G = AABC 9 2AF

Aele.




13. o I™oA H GE aABC 2 FAIGAH ], ADGE = 4em? € o,
AABC 9] ¥l o]&=?

A

® 32cm? @ 36cm? @ 40cm?

@ 44cm? ®3)48cm?

~&B

ABDE oA BG:GE=2:109°|B2&
ABDG : ADGE=2:1
ABDG :4=2:1 .. ABDG =8 (cm?)

ABDG = éAABC - AABC = 48 (cm?)




14. o3 293 22 YYPARIY ABCD 9] & ¥ BC, CD 9] S8
247 B, Fet sta, BD o} AE, AF 9o %< 22 P, Q@ gk,
BD = 12em % o, PQ 9] Zo|& 317

@ 2cm @ 2.5cm 3 3cm

P o] £ e A2 o2 24 ol EstnE
P, Q¥ aABC, AACD 9| RAIZA 0],

BO = 6cm©] 2, BP : PO =2: 10|22, PO = 2cm, *HHA]
2 QO = 2cm ot} w2hA PQ = 4em O




o ok Bk Bk

® 7 @ 87 ® 474

@ 671

@5




16. oS 1994 /B = /C = 90°Q m], APBC 2] {o]=?

D
\
\
\
\
A \
/ |
/ P 20 cm
1 1
12 cm /
\ 1
\ 1
\ 1
\ /
\\\ ///C
~16ecm-~
@ 20cm? @ 30cm? @ 40cm?
@ 50cm? ) 60cm?
A P o4 BCol Wgl 441 e Hat 51w AB//PH//DC
ojlB g
ﬁ:A_Bx]£: 12 x 20 _ 15( m) o]t}
B+ D 12 4+ 20 2
APBC = %XP_XB_:%X%5X16:60(CIH2)




17. o8 1383} 22 AABC o4 AB 9 A58

S D,E AC 9 54

]
=
F 2 st3 DFIBC ] A4 e 24-& G 2t shAh EC = 12cm

o, FG ©] Zol=?

A

@® 16cm @18(:111 ® 20cm @ 22cm

® 24cm

AD: AE =DF : EC°|E22 DF = 6
BE:BD =EC: DGO|E& DG = 24
FG =DG - DF = 24 - 6 = 18(cm)

mzm



18. o2 I™oA H G, ¢’ & Zt2Z} AABC, AGBC 9] #AF Al o]t
AGG'C 9] Hol7t 6em? & o, AABC o] Ho|E Foto]at,

A
B D C
@ 46cm?2 @ 48cm?2 ® 50cm?
@ 52cm? ®)54cm?

3AGG'C = AGBC = %AABC
2. AABC = 9AGG/C = 9 x 6 = 54( cm?)




19. the 199 2ol AABC O RO A P £ A

A
U3 7t o] Balel MBS 19T AABC = E
169 cm?, AFDP = 36cm?, APHG = 25cm? I
d i, AIPE ©] Hol=? g

(@)4 cm? @ 6cm? ® 7cm? @ 8cm? ® 9cm?

~&B

AABC : AFDP : APHG = 169 : 36 : 25
=132:6%: 52

BC:DP:HG=13:6:5

AI:TIE:EC=6:2:5

AIPE : AABC =22:132 =4:169

. AIPE =4 (cm2)
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